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QUESTION 1

You have a 4-node NetApp ONTAP 9.8 cluster with an AFF A400 HA pair and a FAS8300 HA pair with 16 TB NL-SAS
drives. You are asked to automatically tier 150 TB of Snapshot copy data from the AFF A400 aggregates to the
FAS8300. 

In this scenario, which ONTAP license must be added to the cluster to accomplish this task? 

A. S3 license 

B. VE license 

C. TPM license 

D. FabricPool license 

Correct Answer: C 

 

QUESTION 2

After users start reporting the Inability to create new flies in a CIFS share, you find EMS events for wafl.dir.size.max
logged for the volume of the SVM to which the share points. 

In this scenario, which action should you take to solve this issue? 

A. Delete unneeded files from the directory. 

B. Move the volume to a different aggregate. 

C. Increase the maximum numberof files for the volume. 

D. Increase the maximum directory size for the volume. 

Correct Answer: C 

 

QUESTION 3

You created a new NetApp ONTAP FlexGroup volume spanning six nodes and 12 aggregates with a total size of 4 TB.
You added millions of files to the FlexGroup volume with a flat directory structure totaling 2 TB, and you receive anout of
apace error message on your host. 

What would cause this error? 

A. The maximum number of volume constituents has been reached in the ONTAP software. 

B. All constituent volumes are full. 

C. The inode limit is exceeded in the ONTAP software. 

D. The maxdirsize Is exceeded in the ONTAP software. 
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Correct Answer: C 

 

QUESTION 4

A customer\\'s storage administrator Informs you about the deactivated Automatic Switchover (AUSO) feature on their
MetroCluster IP environment. What Information would you tell your customer in this scenario? 

A. The AUSO feature cannot be activated due to a non-mirrored aggregate. 

B. The AUSO feature is not available in Metrocluster IP installations by design. 

C. A faulty link automatically deactivated the AUSO feature. 

D. This is a configuration failure, you can activate that feature for the customer. 

Correct Answer: A 

 

QUESTION 5

Referring to the exhibit 

What do you need to do to return the MetroCluster to a normal state? 

A. Enter the metroclustor switchback command on Site B. 

B. Enter the metrocluster switchback command on Site A. 

C. Enter the storage failover giveback command on Site B. 

D. Enter the storage failover giveback command on Site A. 

Correct Answer: B 
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